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6| HI2(As) 0.05mg/l0ISH EHE|[EXHE|EHE|35| E==2EE 0.08mg/£0l5H 0.036 | 0.006 | 0.011
7| AMals(Se) 0.01mg/fo0|5t EHE | EHE | EHE([36]| =zlgz=oM=dE=d [0.00amg/0lsH EHE | EHE | EHE
8 #2(Hg) 0.001mg/Lol5t| EHE | EHE | EHE|37| S=E23510/=210/15]0.03mg/L0I5H0.0008[0.0009| EHZE
9 [ AIHCN) 0.01mg/f0lsH EHE | E2HE | =242 (38| cl22=oMEUE2 |0.09mg/20l5H0.0013]0.0015]/0.0015
10| ezta=(cr®) 0.05mg/fo|st EHE | EHE | 24 Z([39| c=z=oMEdEd [0.1mg/L0lsH EHZE(0.0013| 24 &
11| atmyoldEA(NH,-N)| 0.5mg/L0|3H 2EHE | EHE | =4 E([40] SZotMEOA= [0.1mg/L0l5H 0.005]0.006 | 0.011
12| EMMELA(NO;-N)| 10mg/L0lsH 1.8 7.9 1.5 [41] &= 300mg/Lolst 64 101 56
13| Zt=E&(Cd) 0.005mg/L0l5H EHE | EHE [ SHE |42 TUZRIZEAH[Z) 10mg/40I5H 2.40 [ 3.20 | 2.10
14| =24(B) 1mg/00l5H 0.01 | 0.02 | 0.01 [43] =AM 23| S | =2 [ &S
15[ #H=(Phenol) 0.005mg/fol5H E=HE | EHAE | 2HE (44| & Fol| glg | %= | 8ls
16| Clolotx|&= 0.02mg/folsH 2EHE [ EHE| =4 E[45] =(Cu) img/LolsH EHAE | EHE[=HE
17| HUE=RER 0.04mg/f0ISH EHE|[=EHE | EXE (46| ME T 0|5H 1 1 1
18| T2lE|2 0.06mg/folsH EHE [ EHE | ELE (47| AHA 0.5mg/LolsH EHE | ELE | =HE
19| FHiE 0.07mg/4o|sH EHE | EHE | =S4 E (48] FTA0I25Z(pH) 5.8-8.5| 6.7 6.2 6.4
20| 11,1-E2l22=0le| 0.1mg/0ISH EHE[EHE | EXE (49| ot (Zn) 3mg/20l5}H 0.002 | 0.031 | 0.023
21 BEziZ2z=o2a(PCE)[0.01mg/l0ISH EHE | =HE | 2dE|50] Hro0[=2(C) 250mg/{0lsH 12.5 | 17.4 9.9
22| E=IZR=20YA(TCE)|0.03mg/Lo0lsH 2=HE|(=HE[=HE[51| TLUURE 500mg/00lsH 122 207 117
23| CIE==HEt 0.02mg/{o|sH 2HE[=HE|EHE[52] EH(F) 0.3mg/LolsH =HE | EXHE | 2HE
24 =iF 0.01mg/4olsH EHE | EHE | EXE([53]  2ZHMn) 0.3mg/LolsH EHE | ELE | =2HE
25| E=d 0.7mg/L0l5H EHE | EHE | EHE (54| EE 0.5NTUOI3H 0.14 | 0.09 | 0.42
26| o2 0.3mg/LolsH EHE | =2HE | 2HE 55| Ehol= 200mg/Lol5t 12 19 11
27 FAA 0.5mg/L0l5H EHE|=HE[=HE|56] L=F0|E(AD) 0.2mg/40l5}+[0.050 | EHE | EHE
28| 1,1-CIZ2=2=0|2al[0.03mg/l0I5H EXHE (2B E | EHE|57| 1,4cto[SAl 0.05mg/tolst EHE | EHE| 222
20| Al EIEFA 0.002mg/e0lst EHE | EXE | =4 E (58| =ZELHSOI=  [0.5mg/eolsH =HE | EXHE|=HE
50| E2EMH 0.01mg/¢olst =& & [0.0008[0.0015
MR SE-"HEA], HA-ulFX], -t X o 3 g [ e [ HE
O F==J/X HAM
5 ZAtZ 3} _
2 FZPNE= *NE =T aN oo AH = AL 2 H| 2
1 »%'Eitﬂﬁ 1HOOSIiU/mZO|3|' _ 2;—: _ 27—: _ 2;—: S HEAE : ola
2 Stiede |SHS/I0n|SHS|SASISHE] 5 gman: s |mEcsdrisedsd
3 =AM AT =dE/100n | =dE | =dE | =4S ORI 2Kl L {7 A
4 FEITFEA 4mg/golst | XM | ME | XE
O 16 O|A =S 3 =EHX| HAL
A=A A =R ZALSs ZARET AL 2
I SHE et H 5 UBLotME A ol Yzt gt = o s ,oime
Ak ;g;g EREESEE] or%,%'ﬂLIé,EHQEE,&LET%i | eTaerlEdTd
O #=Zaa| MelXt: stz oz &elM (M=} 121, 043-730-4852)
O H= U h2ALE M5 S280A| ASte T AR AR AMDEt0] FA|7| i}




